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Addition – 1 

1.  

 

 

 

 

a) 98       b) 89 

c) 74       d) 15 

2.  

 

 

 

 

a) 989       b) 998 

c) 889       d) None of these 

3.  

 

 

 

 

 

a) 969       b) 699 

c) 996       d) None of these 

4. 152 + 34 = __________ 

a) 186       b) 168 

c) 816       d) None of these 

5. 231 + 24 + 12 = __________ 

a) 167       b) 276 

 T O 
 7 4 

+ 1 5 

   

 H T O 
 6 2 6 

+ 2 6 3 

    

 H T O 
 1 1 2 

 3 2 4 

+ 2 6 3 
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c) 267       d) None of these 

6. 

 

 

 

 

 

a) 630       b) 306 

c) 603       d) None of these 

7.  

 

 

 

 

 

 

a) 731       b) 631 

c) 531       d) None of these 

8.  

  

 

  

 

 

 

a) 1015       b) 1005 

c) 1105       d) None of these 

9. A cycle factory made 425, 282 and 174 cycles in three days. How many total cycles are made 

altogether? 

 H T O 
    

 3 4 5 

+ 2 5 8 

    

 H T O 
    

 3 4 5 

 2 5 3 

+ 
1 3 3 

    

 H T O 
    

 5 8 6 

 2 6 4 

+ 
1 5 5 
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a) 861       b) 871 

c) 881       d) 891 

10. In a cricket match 472 men, 347 women and 125 children came to see the match. How many 

spectators came to see the match? 

a) 944       b) 494 

c) 449       d) None of these  

11. In a primary school, there are 265 class-1 students, 127 class-2 students, 253 class-3 students and 

120 class-4 students. What is the total strength of the school? 

a) 675       b) 567 

c) 765       d) None of these 

12.  

 

  

 

 

 

 

 

a) 1201       b) 1210 

c) 1120       d) 2110 

13.  

 

 

 

 

 

 

 

 

 H T O 
    

 2 4 7 

 5 6 8 

 2 4 2 

+ 
1 5 3 

    

 H T O 
    

 3 2 1 

 2 4 3 

 5 6 2 

 2 4 2 

+ 
1 5 3 
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a) 1512       b) 1152 

c) 1521       d) 1251 

14. 245 + 321 + 121 + 211 + 12 = __________ 

a) 910       b) 810 

c) 710       d) 1010 

15. John has 4 bottles of marble, 1st bottle has 269 marbles, 2nd bottle has 234 marbles, 3rd bottle have 

328 marbles and 4th bottle has 231 marbles. How many marbles John do have in total? 

a) 1026       b) 1620 

c) 1062       d) 1260  

 


